
https://www.certbus.com/1z0-1075-22.html
2024 Latest certbus 1Z0-1075-22 PDF and VCE dumps Download

 

 

 

1Z0-1075-22Q&As

Oracle Manufacturing Cloud 2022 Implementation Professional

Pass Oracle 1Z0-1075-22 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.certbus.com/1z0-1075-22.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1075-22 Dumps | 1Z0-1075-22 VCE Dumps | 1Z0-1075-22 Braindumps                                1 / 7

https://www.certbus.com/1z0-1075-22.html
https://www.certbus.com/1z0-1075-22.html
https://www.certbus.com/1z0-1075-22.html


https://www.certbus.com/1z0-1075-22.html
2024 Latest certbus 1Z0-1075-22 PDF and VCE dumps Download

QUESTION 1

While creating an item in Product Information Management (PIM), the following two item templates are selected in
sequence and applied. 

1. 

Template: Finished Goods (WIP = No, Customer Ordered = Yes) 

2. 

Template: Sub-assembly (WIP = Yes, Customer Ordered = No) 

Identify the Item Attribute values in the application. 

A. WIP = Yes, Customer Ordered = Yes 

B. WIP = Yes, Customer Ordered = No 

C. WIP = No, Customer Ordered = Yes 

D. WIP = No, Customer Ordered = No 

Correct Answer: C 

 

 

QUESTION 2

Identify two conditions that should be met at the same time for a Standard Operation to be called an Optional
Operation. 

A. There are no components attached to it. 

B. The Automatically Transact check box is deselected. 

C. The Automatically Transact check box is selected. 

D. The Count Point check is selected. 

E. The Count Point check box is deselected. 

Correct Answer: BE 

 

 

QUESTION 3

A production Supervisor has noticed that Work Orders created manually are overwritten by the plan runs 

executed by Planning Central. After discussing this issue with the Planner, two actions are recommended 
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to prevent the Work Orders from being overwritten by plan runs. 

Identify the two recommendations. 

A. Update Supply Plan Options, Overwrite Firm Planned Orders = None. 

B. Update Firm flag in the Details region of the Edit Work Definition page. 

C. Update Firm flag in the Details region of the Edit Work Definition Names page. 

D. Update Firm flag in the Details region of the Edit Work Order page. 

Correct Answer: AD 

 

QUESTION 4

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not 

getting transferred to Costing. 

Identify the reason for work order transactions not getting transferred to Costing. 

A. The Manage Item Rules setup is not complete. 

B. The Costing Interfaced Attribute is enabled in the resource definition. 

C. The item was made inactive after the Work Order transaction. 

D. The Costing Interfaced Attribute is not enabled in the resource definition. 

Correct Answer: D 

 

QUESTION 5

Your customer wants to mass create and modify Work Definitions and the relevant operation, items, and 

resources available in the spreadsheet. 

Which two operations are not supported using ADFDI (Oracle Application Development Framework 

Desktop Integration)? 

A. Create Work Definitions 

B. Update Work Definitions 

C. Create and update ATO (Assemble To Order) model work definitions 

D. Populate Descriptive flexfields 

Correct Answer: CD 

 

Latest 1Z0-1075-22 Dumps | 1Z0-1075-22 VCE Dumps | 1Z0-1075-22 Braindumps                                3 / 7

https://www.certbus.com/1z0-1075-22.html
https://www.certbus.com/1z0-1075-22.html
https://www.certbus.com/1z0-1075-22.html


https://www.certbus.com/1z0-1075-22.html
2024 Latest certbus 1Z0-1075-22 PDF and VCE dumps Download

QUESTION 6

A Production operator in your company is required to report production activities, such as completing or 

scrapping production units, by referencing a work definition without creating work orders. 

Identify the manufacturing transaction that a production operator can perform for reporting such activities. 

A. Orderless Transactions 

B. Operation Transactions 

C. Resource Transactions 

D. Movement request 

E. Material Transactions 

Correct Answer: A 

 

QUESTION 7

In your customer\\'s manufacturing facility, different types of Movement Requests are created. Key manufacturing
components are issued to the work orders form the manufacturing subinventory. The manufacturing subinventory
receives its supplies form the Warehouse subinventory through automatically created Movement Requests. Which type
of Movement Requests should you use to fill the manufacturing subinventory form the Warehouse subinventory? 

A. Batch Wave Movement Requests 

B. Pick Wave Movement Requests 

C. Replenishment Requests 

D. Requisition Movement Requests 

Correct Answer: D 

 

QUESTION 8

A plant operates three continuous daily shifts of eight hours each for five days in a week. One unit of the resource R1
within the plant is assigned for two shifts to work area W1. On a particular day in a given week, due to unscheduled
maintenance that needed to be performed on the resource R1, it was not available for two hours during each of the
assigned shifts. Determine the available capacity of the resource R1 for that week. 

A. 78 hours 

B. 76 hours 

C. 60 hours 

D. 70 hours 

Correct Answer: A 
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QUESTION 9

In a manufacturing plant, two purchase components P1 and P2 and a resource R1 are required to assemble a product.
The cost of the assembly is calculated by using the standard costing method. The work definition and resource rates of
the assembly have been defined as required. A cost accountant is estimating cost of the assembly, analyzing rolled-up
costs before finally publishing estimates as frozen standards to cost accounting by using a cost planning scenario. While
reviewing rolled up costs, the extended costs of purchase components are not included in a rolled-up scenario. Identify
the reason. 

A. Purchase components P1 and P2 are not associated with Material cost plan of the cost planning scenario. 

B. Costs for purchase components P1 and P2 are not defined in cost accounting. 

C. Create Accounting was not initiated. 

D. Create Accounting Distributions was not initiated. 

Correct Answer: D 

 

QUESTION 10

A customer has a distribution warehouse (DW) for After Sales and Service and an in-house manufacturing plant (MP).
Sales orders are created and shipped from DW. Identify the two Sourcing Rules that need to be set for order promising
to schedule the order. 

A. Define Local sourcing rule for organization MP: Source Type Make At, Source MP 

B. Define Local sourcing rule for organization DW: Source Type Make From, Source MP 

C. Define Local sourcing rule for organization MP: Source Type Transfer To, Source DW 

D. Define Local sourcing rule for organization DW: Source Type Transfer From, Source MP 

Correct Answer: AD 

 

 

QUESTION 11

You can generate and manage work order exceptions in Oracle Manufacturing Cloud. Which users can report
production exception and who gets notified after an exception is raised? 

A. The Production Operator can report and exception and the application generates a notification that is 

sent to all users who have access to the manufacturing plant. 

B. The Production Operator can report an exception and the application generates a notification that is sent to all users
with the role of production supervisor who have access to the manufacturing plant. 

C. The Production Operator or Manufacturing Engineer can report an exception and notifies the production supervisor
using Oracle Social Network since there is no system generated notification. 
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D. The Production Operator can report an exception and notifies the production supervisor using Oracle Social Network
since there is no system-generated notification. 

Correct Answer: B 

 

QUESTION 12

You are in the process of defining a Standard Operation for visual inspection. You want the completion of this standard
operation to be reported in all work orders that reference it. Identify the setup that will fulfill this requirement. 

A. Select the Automatically Transact check box while defining the Standard Operation. 

B. Deselect the Count Point check box while defining the Standard Operation. 

C. Select the Count Point check box while defining the Standard Operation. 

D. Ensure that the Charge Type of the resource is Automatic. 

Correct Answer: C 

 

QUESTION 13

Your customer is a light assembly manufacturing company that doesn\\'t require shop floor control. A manufacturing
engineer wants to generate a work definition automatically for some items, and wants to eliminate the explicit
maintenance of work definitions. Which three steps must be completed and verified in the Work Definition area? 

A. Ensure the predefined work definition name ORA_MAIN name is active. 

B. Select a resource that is to be used in automatic work definition by enabling the attribute Default for automatic work
definition. 

C. Select a standard operation that is to be used in automatic work definition by enabling the attribute Default for
automatic work definition. 

D. Ensure the item is a standard item with a secondary item structure. 

E. Ensure there is only one default standard operation at a given point in time. 

Correct Answer: ACD 

 

QUESTION 14

In a Manufacturing Cloud post production support environment, a user wants to update some of the 

operations in the work orders by using the Midpoint Scheduling feature. However, the user is unable to 

update any of the orders. 

Identify two reasons. 

A. The work order operations do not have operations start or completion date. 
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B. The scheduled resources are not part of the organization selected by the user. 

C. None of the operations include scheduled resources. 

D. The operations are missing sequence. 

Correct Answer: CD 

 

QUESTION 15

You are reviewing the production status of your manufacturing plant shop floor as a production supervisor. Your
production manager wants a report on a work order status which is reserved against a particular customer. The final
assembly of the work order is serialized. Which option shows the steps to complete the task using the mobile
application? 

A. Use your mobile camera to scan the bar coded serial number of the final assembly> Upload the barcode to open the
work order details page > Click Actions and select the E-mail icon> Select required work orders> Select the e-mail
client, enter the recipient\\'s e-mail, and click Send. 

B. Select the infotile Customer to open the work order details page> Click Actions and select the E- mail icon> Select
required work orders>Select the e-mail client, enter the recipient\\'s e-mail, and click Send. 

C. Use your mobile camera to scan the bar coded serial number of the final assembly> Upload the barcode to open the
work order details page> Select required work orders> Click Social icon (OSN) > Select recipient, and click Share. 

D. Search the work order by customer name to open the work order details page> Click Actions and select the E-mail
icon> Select required work orders> Select the e-mail client, enter the recipient\\'s email, and click Send. 

Correct Answer: A 
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